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February 11, 2019, Monday

Solv e for x.
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Find the measure of each angle indicated. Solve for x.

2, LB-‘\- {C= L BAN 1

Nz 43 = 130 ¢
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Find the missing length indicated.

X+4= ;(x D)
r4-12x-2

We will be working on geometric constructions

(this is not copying what you see, this is using
geometric tools to replicate a geometric figure).

Be prepared to carefully read and use the instructions!

Feb 6-7:54 AM

Feb 11-7:49 AM

Feb 11-7:44 AM

4. [Angle Bisector] Construct an angle bisector of the angle <DEF

Feb 11-7:44 AM

Q0"
3. [Pammendicular Bisector] Construct aperpendicular bisector o the segment 75.
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using a

Feb 11-7:44 AM

Feb 11-7:44 AM
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56 EOC style construction problems Name.

style

questions. norder,
“ources. Please chaze the correct answer.
[EOCT Practice ltems

1) Consider the construction of the angle bisector shown.

(Key: €]

2) Consi inni i i circle Q.
abel point R on circle 0.

raw a diameter through R and 0.

Step 3: Label the interscction on the circle point 7.

13

What i the next step in this construction?

A. Draw radius 50
B. Label point S on circle 0.
C. Construct a line segment parallel to K7
D. Construct the perpendicular bisector of KT
[Key: D]

Feb 11-1:38 PM

February 14, 2019
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8

Which statement BEST describes point $?

A. Point S is located such that SC = PQ.
B. Point S s located such that S4 = PQ.
. Point S is located such that PS = BQ.
D. Point S s located such that @S = PS.

A student used a compass and a straightedge to bisect 2 ABC in this figure

.

Which geometric principle is used to justify the construction below?

1) Aline perpendicular to one of two parallel lines is perpendicular to the other
2)  Two lines are perpendicular if they intersect 1o form congruent adjacent angles.
3)  When two lines are intersected by & transversal and alternate interior angles are

congruent, the lines are parallel

congruent, the lines are parallel.

4) When two lines are intersected by a transversal and the corresponding angles are

Feb 11-1:38 PM

February 12, 2019, Tuesday

[Write a rule to describe each transformation.

State if the triangles in each pairare similar: If so, state how you know they are similar and

complete the similarity statement. ,.? Ssi' SA_S'I m ~
Side! 25 _

b4

3 _,
q_%‘35

any le
LT 2 LT Vurt.
va’ les

https://www.mathopenref.com/tocs/cons!

Copy a line segment

* Sum of line segments.

Difference of two line segments.

Y Perpendicular bisector of 3 ine segment

Divide a line segment into n equal segments
Perpendicular to a line 3t a point on the line
Perpendicular to a line from an external point

Perpendicular to a ray at its endpoint

Y A paraliei o3 ine through a point (angle copy method)

A paraliel to a line through a point (Fhombus method)
A paraliel to a line through a point (transiated triangle method)

K Copy a triangle

Triangle, given all 3 sides ($55)
Triangle, given one side and adjacent angles (ASA)
Triangle, given two sides and included angle (SAS)
Triangle, given two sides and non-included angle (AAS)

Y Isosceles Tangle, given base and one side

Isosceles Triangle, given base and altitude

Isosceles Triangle, given leg and apex angle

30-60-80 right triangle given the hypotenuse

* Equilateral Triangle

of a Triangle

+ Copy an angle

sect an angle
+ Gonstructa 30° angle
Fr Construct 45" angle
+ Construct a 60" angte
Construct 2 80° angie (nght angle)
* sumot n angles
+ Difterence of two angies
H Suppplementary sngle
F Compiementary angle
+ Constructing 75° 108 120° 138° 160" angies and more

Y sauare given one side
e sausre inscrived in acircie
i Hexsgon given one sics
+ Equiateral triangle inscribed in acircle
+ Hexagon inscribed in a cirsle

P Penagon inscrised n  cirte ...quiz

Feb 6-8:00 AM

Feb 11-1:53 PM
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Unit 2 Study Guide Part 2
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Constructions Review

Ifcomplete, bighlight the
Tast step of

%
v
3

February 14, 2019

15) Copy the angle.

L

/\
/

17) Bisectthe ange. 18) Constructa perpendicuar bisector.

L

1)

Feb 6-7:59 AM

February 13, 2019, Wednesday
MC: What are the following constructions?

n

() Copy a given angle @ Copy 2 given angle @ Construct the perpendauar bisector of  Ine segment

N O Bisectan andie O Cometthe prpendevia beecorof e e

O Locatedremmsmesmtemobasanrge
Construct an angle twice as large O Construct an angle twice aslarge o e o o
I oo csr bescr T
\O Construct the sum of two angles \O Construct the sum of two angles v

...test

Feb 6-7:59 AM

Match each construction to its image. Highlight tl
last step of the construction in another color. If it

\.4) %Cnpyingaﬂang]e A
Vi) e cribed in 4 ci

Hexagon inscribed in a circle

V{) Copyinga line segment

Bisecting an angle
f{) Square |nscr|hed ln acircle

)ﬂ Parallel lm
Perpendicular blsenurF \/

] |

25) Perpendicular line through a point on r n ' S h

the 1% LRSI
) Grpendicular line through a point

N&T on the line

)

lilaferyf triangle inscribed in a “
cirtle

E I F.

Feb 13-1:47 PM

Feb 6-8:04 AM

Quiz review.

EOC sty construction probiems

15. Ruben carres out 2 construction using AABC. A sequence of diagrams
shows a part of his construction.

1

b
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® )‘ 1 a.)/

What will be the result of Ruben's construction?

% Ruben constructs a segment perpendicular to AC.
® Ruben constructs the bisector of AC .
s ot

Feb 13-11:47 AM
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EOC syle construction problems Name.

1. Which illustration shows the correct construction of an angle bisector?

EEE]

Feb 13-11:48 AM

EOC style construction problems Name.

T Based on the construction below, which stalement must be truc?

a2
/
/
/
N AR
//,/
-
"
1) mZABD = *leBIJ 3) mZABD = mZABC
2 mABD =mZCBD 4 mLCBD={mzABD

2 Which diagram shows the construction of the perpendicular bisector of AB?

Feb 13-11:48 AM

February 14, 2019

4 F=ko

Feb 13-11:48 AM

EOC style construction problems Name.

Feb 13-11:48 AM

Iy
A 90units - 30 X =S40
B. 7.5 units —_—
e zzsuis > 24 2
D. There is not enough information the X -

»,
AT T ST SRR Y
: S
" B s ==
= = w0 v
C. Side-Side-Side Similarity Statement

D. Itis not possible to determine if AABC~ADEF. b4

22) Given the diagram below, find the unknown length. 2

February 14, 2019 Thursday
0 D 150
6) AABD~AECD. What is the length of CD? _'.Tb - :;_-\—.‘
) length of CD. - u's @
au
9) Which statement would justify AABC~ADEF?

Feb 6-8:09 AM

‘Unit 2 — Dillations & Similarity Review Neme_ s
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gl Froportonality & Mitegment Thoreim
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15) It casts a 29-foorshadow whilea yasdsrick casts  2-fot shadow, AL
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i% Desmos i i

5), parallel oy~ 2v.+ 5

3) trough: (1, -5), paralel 1o = -8 -2

5) dhrough: (-3,0), pasallel 0 y=—x+2

) through: (~1,4), per. o y=x+4

2
9 trough: (2.4, per. 03 =242

1
1) theoughs (-1, -2), perp.t0 = x5
) through (-1, =2), perp. oy ==

2) trough: (1, 1), paralll 0 = 3¢5

4) through: (5, 4), paralll to —%u 3

6) through: (~1,2), parallel to y =7 + 3

8) through: (4, ). perp.to =24

10) through: (-2, -2), perp. oy = % -

2 S) peptoy= s
12) tnough: (1,5, perp-t0 = 1x+5

Feb 6-8:24 AM

7 -15=3p-8x

Find the slope of a line perpendicular to each given line.

10) 026412y

form of

8) y=dvrd 9) 3x-5y=0

11) through: (1, -2), parallel to y=2x~ 1

12) hroughs (3,3), perpt0 y=x-3

Feb 6-8:29 AM

February 14, 2019

@

‘Geometry ~ Day 1, 41102017 Name
Distance, Parallel & Perpendicular Lines.

Find the distance between cach pair of points.

1 (5-1), 0.2) 2020 (2-0)
3 (8, (8.2) 6.8, (4,1)
3 (8.9, (.8) 6 (0.-2) (-7.4)

Feb 6-8:22 AM

Algebra 1 Neme_ . Ibl
Distance, Parallel Slopes, Perpendicular Slopes Dt Period__
Find the distance btween each paie of points.

1 (0.-1). (5.6) 23 (0.7, (-1.5)

3 P

Find the slope of  line parallel to each given line.

yades 6) x-y=—d
9 yetxes

Feb 6-8:29 AM

February 15, 2019, Friday
Find the parallel slope and perpendicular slope to the following lines:

1) y=x-3 2) -3y=-x

3) 3x+2y=-2

Feb 6-8:29 AM
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February 14, 2019

What is line partitioning? Lets look at Khan...\

rected line segment AB at the ra
from Alx, ;) to Blx ;)
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Feb 6-8:31 AM

pamgess

(2111058 7,2 s putions th segmentn the i o 10 £

Coordinates of puint which parttions &
dirccted line segment AB at the ratio of b
from A, 3, 0 Blxs o)

b oy, by say

R Tt 2
or
(531 = 0+ 355 - + 2 0 )

Feb 6-8:38 AM

S QP s e o e s s, v | Covrdinatesof poit which purtitions
v from Az, %) 0 Bir 1)
_ wrar, by
1. Fndtnecorainaesof th pot tht cvides 2B o thesequtpars. | )= g
- on
L e e |
Al
B
2 oz
A
B
B B )
3
. Gt
B T2 o A
oot 3
2 a bl T
{+)

Feb 6-8:38 AM

Partitoning a Lie Segment
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Geometry ~ Day 2,4/11/2017 Partiioning Line Segment I Name
Directions: P
aredic
n ,-2) and B(6, 1
partition AB n the ratio 2:1.
) 3, 4)and B2, 0),
that partiions AB i therato 2 t0 3
B} 52,9)
partiions AB in the ratio 4 to .
5 1) and (5, 3),
that partiions AB i the rato 1:3
B} , 1 and B,
partitions AB in the rato 5.2
o AR, 4 and B, 10).
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N 160 311ACS, 4) and B, 1)
. 34IAC9, 9) and B, 2),
N AC, 2) and B(G, 19).

750 2IFACS, 4) and BC8, 2)

13,4 7,611

12)(9,3) (1,8 23

1)©5) 4713

15,6 (4,5 34
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